[image: image1.bmp]The impulse-momentum theorem comes from Newton’s Second Law of Motion.  

Step 1:  What is Newton’s Second Law of Motion?  

Step 2:  What is the impulse-momentum theorem?  


Step 3:  Let’s just imagine a scenario where a net force is acting on an object such as the box shown below, which is moving to the right.  


(a) Is the mass of the box changing?  Explain without taking into account the effects of relativity.

(b) Is the velocity of the box changing?  Explain.

(c) Is the momentum of the box changing?  Explain.

Step 4:
Write an equation for the change in momentum ((p) of the box in terms of m, and vi and vf.:

Step 5:  Look at what you’ve got, and see if you can use substitution to derive the impulse-momentum theorem from Newton’s Second Law.  (Start with Newton’s Second, end with Impulse-Momentum, and SHOW steps that get you through the derivation.)

20 Points





This is where we’re starting… and, by the way, your answer should be in the form of an equation.





This is where we’re ending… and, by the way, your answer should be in the form of an equation.
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